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The figures in thé margin indicate full marks
for the questions

Answer either in English or in Assamese
OPTION—A
( APPLIED STATISTICS )
( For Arts Stream Only )

1. Answer the following as directed : 1x7=7
o AR fATeTgRd Teq fagr

(@) Rl s e e R
( Fill in the blank )
o TG = G 100
QEREE R
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3
(2) (3)

(e) Price relatives used in the construction

iati a time series ;
(b) The seasonal variations of of index numbers are pure numbers.

occur :
( Write True or False )
TR ot PR % R I FACS IREA T4 T o
(i) within a day W AN 2 |
«p] g foeTe (o= 1 s forer )
) i 2 et (f) Distinguish between a parameter and a
(t statistic.
TR oot b1 ame W <GB e WMo o el
(iij) within a month e |
b1 =7 foeqe (g) Can non-sampling errors be present in
Gl st L e census surveys?
<51 929 fooqe el a1l “Aafoe Seifevm @ i g 2
( Choose the correct answer ) 2. Give short answer to the following questions :
(o= Teschr AR Sfea ) : 2x4=8
@oTo A e 5 eq fra
(c) Fisher’s index number is the of (@) What is meant by deseasonalization of
Laspeyre’s and Paasche’s indices. data of a time series?
( Fill in the blank ) IEAN APES ASRAMRS S B forew &
FoRT PIT (R ABCAR W AR & ?
PRSP I (b) Write two limitations of fixed base index
(=1 372 [ 0 ) (FBI) number.
fsfofe (FBY) spekes 1 worer 1 wpif
(d) What does the d, column of a life table fere
represent? (c) Define vital events and vital statistics.
& O d, TSI o o 2 0 el S C5F AR st e |
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(4)

(d) What method would you prefer in the
collection of data when the population
under study is (i) small and (i) very
large?

3] 2R T P 15 1fe7 soqe SafE
frqr I SrEEe TR G T we (i) @
Treq 2 ?

3. Answer any three from the  following

(5)

(b) Prove that Fisher’s index number
satisfies both time-reversal test and
factor-reversal test. 5

eI 90 @ TR SRR Y TeTw <Ry
SIF ToMI B AR g 9 |

(c) Distinguish between age-specific fertility
rate and total fertility rate. 5
TEIRMAE SOl 2@ A 35 Sl 799 el
& Gl '

(d) Describe briefly the main steps or stages

questions : 5x3=15 involved in a sample survey. &
were ol e & ceren foftr e frm - ﬁﬁwfﬂﬁwtﬂz@w@@qmmw
(a) Calculate trend values using 4-yearly Jefel] 41 |
moving average for the time series given
belowg' & 5 (e) Define : 1+2+2=5
d 3| :
oo fill FECAGH o[ 4 =AW v A il
93[ I i;omf@;q@ I fefg e - (i) Hypothetical Population
Afere
Year : 2001 2002 2003 2004 2005 2006
%9 (i) Sampling Unit
Production foBE (o
in ‘000 t 2 a8 2
(r.‘i;‘lr;vmf—.,r it ; ot = ® ¥ % (ij) Standard Error
(’0007%7) T @6
;;r 22007 2008 2009 2010 4. Answer the following questions : 10x3=30
Production TS F 2R Tag fram -
in ‘000 : . :
%ZW tens) 84 88 80 100 (a) () What is an Index number? 2
(’000%e) TIEF 2
20A/758 Tu
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(6) (7)

() A worker earns & 750-00 per month. (i) Given the following data :

6
The cost of living index for a Commodity  pg do B 2
particular month is given as 160. A 1 10 2 5
Using the following data, find out B 1 2 x =
th<:j a{rr}xounts he spends on (i) food 3 Where pg, gy refer to base period
and (i) house rent : i ity;
price and quantity; p,, g, refer to
g% MW AR T 750-00 Tl W_j l current period price and quantity.
T <b1 T2 Ky ey T8 PRRS Find x, if the ratio between
160 i wiics | weog waEIfE o[ (99 Laspeyres’ (L) and Paasche’s (P)
() 0 W% (i) T3 Srore W T T index number is
| F1ef 1 L:P=28:27
m Expenditure (®)| Group Index G IS R GRS i 1
il o) W O S il ST A e e
el ? 190 A 1 10 2 5
Clothing (77 T ey 3 : : o =
o 125 18l T® po, g9 Fefeada v e =ffapa;
et B o | P, @4 TS T T W eifiyq
oY ' TR | x 6 el 4 3R Ao (1
Fuel 5 T S AIfRd (P) o4 LIS
% L:P=28:273]|
Miscellaneoys 75 101
eIy (b) (i) Distinguish between questionnaire
____-____-—___
T e and schedule, 2
Or / 5z 2R o PP T A1 g |
() What Precautions should be takemn (i) What is  stratified random
to  select the base period to 4 sampling? Discuss its merits. 3+5=8
construct an index number? IS IS eifenm 2 e 4P
%&%ﬁ 47 3f3ter o Frafor A AT 47 | i
g
7! ey 369 el 7 20A/758 ( Turn Over
20A/ 758 )
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(8)

Or/ 11

Explain the methods for measurement
of mortality.

T 2 A1 ) ooz 0 9 |
() () Fit a straight line by the method of
least squares and find the trend
values from the data given below :
O il S o e 3 o
S SRR fifgr v o AT
ST W faey <o -

1991

10

Year

I

1994

1992 1993

77 88 94 85

(i) Eliminate LT by asing
gultipli(;aﬁve model. : tiV‘e)
TN wremesy (mul’fiphcaﬂml

T S o (eliminat®

(et

it

thEss

d)

20A/758

(9)

Or/ 9247

Write short notes on any two of the
following :

O RCICAT GBI @*1@ B (Gl forat
(i) Life Table
Gl 1 SP SiferT
(ii) Gross Reproduction Rate
ol oG 29
(ii) Chain Base Index Number

RIES P JoFIE

Sx2=10
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(10 )

OPTION—B

( ECONOMETRIC METHODS )
( For Science Stream Only )

=7
1. Answer the following as directed : I

(@ Name g method how autocorrelation
can be detected.

T ST fiefy 1 o Qo A BT
B) Why is there type 1 error I
multicollinearity?
T ST o 11 e R AR ?

. o S
(¢ In a time series, heteroscedasticity 4°¢
not occur,

( Write True or False )
(w7 ¢ T ferdl
(d)

jal
Wl’}at does A represent in the part
adjustment model

y[ =yt~1 +A,(yt _-y{—]_)'l'ut’ 0 L{}\‘ Zl ?
‘@)&%%
20A/758 T@W‘?

( Conﬁﬂ”ed

(e)

(9)

2. Answer the following questions :

(11)

What is the role of the dummy variables
in a model of the form y, =« +BD, +v,?

Write one source of autocorrelation.
TG ST 01 ST fopey |

Give one advantage of least squares
method over moving average method in
the context of time series analysis.

TeT8 T &SN GRS ey 35 TR
<61 R 1 (I Rewwem cvao) |

e fadr e Tag fa

(@)

(b)

(c)

20A/758

Draw a figure showing positive and
negative first-order autocorrelation.
9Ol B = IR AT AE AR A~
TAH TR TTFRCEE e |
What is seasonalization of dummy
variables?
AR bo7ed Yol Jfercat 15 g 2
What is the problem of estimation of the
following consumption function?
Ct = bo +b1YdI +b2YdI‘1 +b3AYdl +ut
ST WiRRe e Tl iy e
R 2

( Turn Over)
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(12 )

(d) Mention two remedial measures when
multicollinearity is detected.

TR TR R 9 1 9 Sead 9 |

3. Answer any three from the following

questions : 5x3=15
=TS frfl IR R e fofism Taq fo -
(@ How  is  the presence of

heteroscedasticity tested?  Discuss

briefly the ‘Lagrange’s multiplier test’ for
heteroscedasticity. 2+3=5

AR e g o AR R
ol fidme <= ‘GaEeR gaF AP

TERCBT SATeetTeT <537 |

(b) What is dumy variable trap? How can
W€ overcome it? Ziere
2SI 5T T R 0 Wy T T A
T e 2

(c) State the Koyck model and show how it
INcorporates time lag. 2
Koyck =if¥hr forsr wre re smme a4
(TS =PSe 91 G20z Sl |

20A/75
/758 ( Continued )

Year
=9

Earnings
{?inlakh) S 40 65 72 69 60 87 95

e (F14S)

(13)

(d) Fit a straight-line trend by the method
of least squares to the following data : 5

o Ol TN Iof EfeT SRR o
TS T o8 T

. 2002 2003 2004 2005 2006 2007 2008 2009

(e) What is the utility of time series analysis
to a businessman and an economist?
With what component of time series
would you mainly associate each of the
following? 243=5
FEed Roms Iem w9 9@t @
7 TOEEN 7 FECAS @O TR e
off S SR IR S 2
(i) The monthly record of rainfall in a

city
529 Q4TS TP TR SfScar

(i) Fall in death rate over the last
decade

(AR T 4R 2PT (2 91 Y9 7R
(iij) An era of prosperity

KRR
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(14 )

10x3=30
+ Answer the following questions :
TS PRl A T i

. o the
ting
(@ Explain the methods of detec

. a
in
rnulticollinearity problem Discuss
linear fegression  model. ignoring 0
the consequences of 5+5=1
multicollinearity. S
Bl etaRe TR W =3 T
RIS TR =
Rl R T SR
TR £ 9
Or/ wzqy ¢ the :
: tes
From the following information, :
autocorrelation : g
X . 1 ®) 3 4 S 2 14
Yo 20 6 88 delg S o
abo
The testeq Mmodel for the
Obsery,

ations g Y, =1.2+0-6X;
Gﬂ;@ =

L2406 del.
0
(b) Explain the adaptive Enccianion rJf<1:1 5 10
at the problems face 5+57
estimating th

€ mode]?

fﬁﬂﬁ' O Wt ey ?j;; 4z e
s o, : '
'{% @iﬁ 315}511 [SIE ﬁs (Coﬂﬁﬂ.ue

(15 )

Or/ S471

10
a

0 '

a

SRR CFGS (TSI @
TR RN 1 (RS (7Y
22T -

U =PpU;_q +&4, |pl<1

t

where (I’'9)

Efggs) =0 t#s
=82 t=s
5
Var[ut)_l_pz

(o) Write i OLS
ite the consequences of e'lpplylng
& there is autocorrelation.
when 10

feg somm ARE OLS eaisl 399 wore
%@W fera |

Or / F2=T

i tion gives
wing informa .
The f:ilizl data on consumption
hypOth"ature. C, disposable Income Y,
expendlajth W, all in thousangd rupees,
o Wseample of 15 families :
for a

4+2+2+2= 10

( Turn OUE?")
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(16 )

Nl 15%1"@‘-“?1“’“‘1‘”“&%
TS W C, Wy Wy v, o %

(Rl 2 vy TR
RO oy g s e oy o
C .
BN LL L 15 17 16 13 18)ia20 -
s 8. 12716 18 17 14 20,2308
447 63" 70+ g7 s2 79 SOMESR
Fag!ly ; 10 11 12 13 1 -
Y, 17 41 17 33 i 4
W 18 50 19 37 Z s
004 ws 149 86 AR
. =1
() Regress ¢ on Y4 and W, and fnes
and rYdLU- )
—2 i
Ya W% W, 1 eome ¢ s I0 R 3
HI<F Ty, w %ﬁr{@m |

(@) Regress on Y; only.
T9Y, eoRre g smmere 991 |
Regress ¢ on W only.
T W eoie ¢q ey 41 |

What fan you conclude from T

(iif)

(1)

Preceding  with,  regard
multlcollineality"’
5 ;
‘%? R Rz ot o 7 T
N1 9
* K sk
20A__
7000, 758 %
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